



# ASTROCHALLENGE MATHEMATICAL FORMULA BOOKLET

## INSTRUCTIONS

- THIS BOOKLET CONSISTS OF 3 PRINTED PAGES, EXCLUDING THIS COVER PAGE.
- DO **NOT** MAKE ANY MARKINGS ON THIS BOOKLET.
- RETURN THIS BOOKLET TO THE INVIGILATOR AT THE END OF THIS ROUND OF COMPETITION TOGETHER WITH YOUR ANSWER SCRIPT.

### DIFFERENTIATION

$$\begin{aligned}
 [(f(x) \pm g(x))]' &= f'(x) \pm g'(x) \\
 [k \cdot f(x)]' &= k \cdot f'(x) \\
 [f(x)g(x)]' &= g(x) \cdot f'(x) + f(x) \cdot g'(x) \\
 \left(\frac{f(x)}{g(x)}\right)' &= \frac{g(x) \cdot f'(x) - f(x) \cdot g'(x)}{[g(x)]^2}, \quad g(x) \neq 0 \\
 [f(g(x))]' &= f'(g(x)) \cdot g'(x) \\
 \frac{d}{dx}[x^n] &= nx^{n-1} \\
 \frac{d}{dx}[e^x] &= e^x \\
 \frac{d}{dx}[a^x] &= a^x \ln a, \quad a > 0 \\
 \frac{d}{dx}[\ln x] &= \frac{1}{x}, \quad x > 0 \\
 \frac{d}{dx}[\sin x] &= \cos x \\
 \frac{d}{dx}[\cos x] &= -\sin x
 \end{aligned}$$

### INTEGRATION

$$\begin{aligned}
 \int [f(x) \pm g(x)] dx &= \int f(x) dx \pm \int g(x) dx \\
 \int x^n dx &= \frac{x^{n+1}}{n+1} + C, \quad n \neq -1 \\
 \int \frac{1}{x} dx &= \ln |x| + C \\
 \int e^x dx &= e^x + C \\
 \int \sin x dx &= -\cos x + C \\
 \int \cos x dx &= \sin x + C \\
 \int u(x) \cdot v'(x) dx &= u(x) \cdot v(x) - \int v(x) \cdot u'(x) dx
 \end{aligned}$$

### BINOMIAL EXPANSION

$$\begin{aligned}
 \binom{n}{k} &= \frac{n!}{(n-k)!k!}, \quad n, k \in \mathbb{Z}; \quad n, k \geq 0; \quad 0 \leq k \leq n \\
 (a+b)^n &= a^n + \binom{n}{1} \cdot a^{n-1}b + \binom{n}{2} \cdot a^{n-2}b^2 + \dots + \binom{n}{k} \cdot a^{n-k}b^k + \dots + b^n, \quad n \in \mathbb{N} \\
 (1+x)^n &= 1 + \frac{n}{1!} \cdot x + \frac{n(n-1)}{2!} \cdot x^2 + \dots + \frac{n(n-1)\dots(n-k)}{k!} \cdot x^k + \dots, \quad n \notin \mathbb{N}, \quad |x| < 1
 \end{aligned}$$

TAYLOR EXPANSION

$$f(x) = f(0) + f'(0) \cdot x + f''(0) \cdot \frac{x^2}{2!} + \dots + f^{(n)} \frac{x^n}{n!} + \dots$$

$$e^x = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots + \frac{x^n}{n!} + \dots$$

$$\sin x = x - \frac{x^3}{3!} + \frac{x^5}{5!} + \dots + \frac{(-1)^n \cdot x^{2n+1}}{(2n+1)!} + \dots$$

$$\cos x = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \dots + \frac{(-1)^n \cdot x^{2n}}{(2n)!} + \dots$$

$$\ln(1+x) = x - \frac{x^2}{2} + \frac{x^3}{3} - \dots + \frac{(-1)^{n+1} \cdot x^n}{n} + \dots, \quad -1 < x \leq 1$$

SERIES

$$a + ar + ar^2 + \dots + ar^n = \frac{a(1-r^{n+1})}{1-r} \quad r \neq 1$$

$$a + ar + ar^2 + \dots + ar^n + \dots = \frac{a}{1-r}, \quad |r| < 1$$

$$a + (a+b) + (a+2b) + \dots + (a+nb) = \frac{n+1}{2}(2a+nb)$$

TRIGONOMETRY

$$\sin\left(\frac{\pi}{2} - \theta\right) = \cos \theta$$

$$\cos\left(\frac{\pi}{2} - \theta\right) = \sin \theta$$

$$\sin(-\theta) = -\sin \theta$$

$$\cos(-\theta) = \cos \theta$$

$$\sin^2 \theta + \cos^2 \theta = 1$$

$$1 + \tan^2 \theta = \sec^2 \theta$$

$$1 + \cot^2 \theta = \csc^2 \theta$$

$$\sin(\theta \pm \phi) = \sin \theta \cos \phi \pm \cos \theta \sin \phi$$

$$\cos(\theta \pm \phi) = \cos \theta \cos \phi \mp \sin \theta \sin \phi$$

$$\tan(\theta \pm \phi) = \frac{\tan \theta \pm \tan \phi}{1 \mp \tan \theta \tan \phi}$$

$$\sin \theta + \sin \phi = 2 \sin\left(\frac{\theta + \phi}{2}\right) \cos\left(\frac{\theta - \phi}{2}\right)$$

$$\sin \theta - \sin \phi = 2 \cos\left(\frac{\theta + \phi}{2}\right) \sin\left(\frac{\theta - \phi}{2}\right)$$

$$\cos \theta + \cos \phi = 2 \cos\left(\frac{\theta + \phi}{2}\right) \cos\left(\frac{\theta - \phi}{2}\right)$$

$$\cos \theta - \cos \phi = -2 \sin\left(\frac{\theta + \phi}{2}\right) \sin\left(\frac{\theta - \phi}{2}\right)$$

### DOUBLE ANGLE FORMULA

$$\sin(2\theta) = 2 \sin \theta \cos \theta$$

$$\begin{aligned} \cos(2\theta) &= 2 \cos^2 \theta - 1 \\ &= 1 - 2 \sin^2 \theta \\ &= \cos^2 \theta - \sin^2 \theta \end{aligned}$$

$$\tan(2\theta) = \frac{2 \tan \theta}{1 - \tan^2 \theta}$$

### R-FORMULA

$$a \sin \theta \pm b \cos \theta = R \sin(\theta \pm \alpha),$$

$$a \cos \theta \pm b \sin \theta = R \cos(\theta \mp \alpha),$$

where  $a, b > 0$ ;  $R = \sqrt{a^2 + b^2}$ ;  $\alpha = \tan^{-1} \left( \frac{b}{a} \right)$  is acute

### LAWS OF SINES AND COSINES

$$c^2 = a^2 + b^2 - 2ab \cos(C)$$

$$\frac{\sin A}{a} = \frac{\sin B}{b} = \frac{\sin C}{c}$$

### SPHERICAL TRIGONOMETRY

$$\frac{\sin A}{\sin a} = \frac{\sin B}{\sin b} = \frac{\sin C}{\sin c}$$

$$\cos c = \cos a \cos b + \sin a \sin b \cos C$$

### DOT PRODUCT

$$\vec{a} \cdot \vec{b} = a_1 b_1 + a_2 b_2 + a_3 b_3 = |\vec{a}| |\vec{b}| \cos \theta$$

$$(\vec{a} + \vec{b}) \cdot \vec{c} = \vec{a} \cdot \vec{c} + \vec{b} \cdot \vec{c}$$

$$|\vec{a}| = \sqrt{\vec{a} \cdot \vec{a}}$$

### CROSS PRODUCT

$$\vec{a} \times \vec{b} = |\vec{a}| |\vec{b}| (\sin \theta) \hat{\mathbf{n}}$$

$$|\vec{a} \times \vec{b}| = |\vec{a}| |\vec{b}| \sin \theta$$

$$\vec{a} \times \vec{b} = -\vec{b} \times \vec{a}$$

$$(\vec{a} \times \vec{b}) \cdot \vec{c} = (\vec{b} \times \vec{c}) \cdot \vec{a}$$

$$= (\vec{c} \times \vec{a}) \cdot \vec{b}$$

$$(\vec{a} + \vec{b}) \times \vec{c} = \vec{a} \times \vec{c} + \vec{b} \times \vec{c}$$

$$\hat{\mathbf{i}} \times \hat{\mathbf{j}} = \hat{\mathbf{k}}$$

$$\vec{a} \times \vec{b} = \begin{vmatrix} \hat{\mathbf{i}} & \hat{\mathbf{j}} & \hat{\mathbf{k}} \\ a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \end{vmatrix}$$